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Q.12) If the total amount invested by the
two companies in 2016 was 27 lakh, while
the amount invested by Suzuki was 50%
of the amount invested by Hyundai, what
was the total profit earned by the two
companies together?

a) 21.70 lakh

b) 20.70 lakh

c) 19.80 lakh

d) 22.30 lakh

Directions (Q.13 - Q.16): Study the Bar
graphs carefully and answer the
questions that follow:

The following graph shows the total
population in (crores) and percentage
population of voters in an election from
different states:
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Percentage of male and female who voted

and adults who did not cast their votes:
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¥ % of adults in total voters who do not cast their votes
® 3% of female in total voters who cast their votes
B % of male in total voters who cast their votes

Q.13) What is the average number of
voters in Haryana, Gujarat and Rajasthan
together?

a) 32.18 crore

b) 18.20 crore

c) 25.58 crore

d) 40.98 crore

Q.14) How many males and females who
voted in Rajasthan?

a) 9.60 crore

b) 10.20 crore

c) 12.75 crore

d) 14.30 crore

Q.15) Average number of voters who did
not cast their votes in Maharashtra,
Haryana and Gujarat?

a) 4 crore

b) 6 crore

c) S crore

d) 3 crore

Q.16) What is the respective ratio of adult
voters who did not cast their votes in
Karnataka to voted in Haryana?

a) 2873 : 41520

b) 1956 : 47770

c) 2193 : 42550

d) 2173 : 4950
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